
Tel: +44 (0)1302 836010
Fax: +44 (0)1302 836012
www.npfasteners.com

sales@npfasteners.com UK/01/1315137298

7NP

Tel: +44 (0)1302 836010
Fax: +44 (0)1302 836012
www.npfasteners.com

sales@npfasteners.comUK/01/1315137298

NP2

* S2 dimension variable depending on S dimension and 
adjusting insert set-up.

Material

Rivet Nut: 303 Stainless Steel

Adjusting Insert: 303 Stainless Steel

0.5 - 2.0

0.5 - 3.5

3.0 - 6.0

0.5 - 2.0

0.5 - 3.5

0.5 - 2.0

0.5 - 3.5

3.0 - 6.5

3.0 - 6.0

Part Code D1
Thread

S
Skin

Thickness

S3
Min.

TC/CM08XZI-M6/10X

L3

Standard Special order

M6 13.5

S2

Dimensional

L D D3 L1 D5
+0.15
-0.00

TC/CM08XZI-M6/15X

TC/AM08XZI-M6/15X

TC/AM08XZI-M6/20X

TC/AM08XZI-M6/25X

TC/BM08XZI-M6/15X

TC/BM08XZI-M6/20X

TC/BM08XZI-M6/25X

TC/DM10XZI-M6/10X

TC/DM10XZI-M6/15X

TC/DM10XZI-M6/20X

TC/AM10XZI-M6/15X

TC/AM10XZI-M6/20X

TC/BM10XZI-M6/15X

TC/BM10XZI-M6/15X

TC/DM12XZI-M8/15X

TC/DM12XZI-M8/20X

TC/AM12XZI-M8/20X

TC/AM12XZI-M8/25X

TC/BM12XZI-M8/20X

TC/BM12XZI-M8/25X

M6

M6

M6

M6

M8

M8

M8

M6

15.7

18.2

11.0

19.5

22.0

17.0

23.0

26.0

10.0

15.0

15.0

13.5

18.0

19.0

20.024.0

15.021.0

25.029.0

20.026.0

25.031.0

10.014.0

15.019.0

20.024.0

15.019.5

20.024.5

15.022.0

20.027.0

15.018.0

20.023.0

20.024.0

25.029.0

20.026.0

25.031.0

14.8 11.0 14.0 1.3 11.0

17.0 11.0 14.0 1.3 11.0

19.5 11.0 14.0 1.3 11.0

12.0 13.0 18.0 1.0 13.0

21.0 13.0 16.0 1.5 13.0

23.5 13.0 16.0 1.5 13.0

18.5 15.0 18.0 1.5 15.0

25.0 15.0 18.0 2.0 15.0

28.0 15.0 18.0 2.0 15.0

*

40353025201615121086

Part Code
Type / Base / Thread /

Length / Material

d1
Thread

d2
Steel

d2
316

PR Q3232 M4 -- --

Ø
Holes OD

PR T1900 M4 -- --

PR T2000 M4 -- --

PR T2300 M4 -- --

PR T3800 M4 -- --

PR R3815 M4 -- --

M4 5.5 8.5

L Stud Length

PR Q3232 M5 -- --

PR T1900 M5 -- --

PR T2000 M5 -- --

PR T2300 M5 -- --

PR T3800 M5 -- --

PR R3815 M5 -- --

M5 6.5 9.8

PR Q3232 M6 -- --

PR T1900 M6 -- --

PR T2000 M6 -- --

PR T2300 M6 -- --

PR T3800 M6 -- --

PR R3815 M6 -- --

M6 7.5 9.8

PR Q3232 M8 -- --

PR T1900 M8 -- --

PR T2000 M8 -- --

PR T2300 M8 -- --

PR T3800 M8 -- --

PR R3815 M8 -- --

M8 10 11.5

Standard Special order

5

5

4

5

5

5

5

5

4

5

5

5

5

5

4

5

5

5

5

5

4

5

5

5

Material: Steel Electro Zinc (ZI) or 316 Stainless Steel (316)

Part number is made up as follows:

(Type code) (Base code) (Thread code) (L Length) (Material code)

For example:

PR Q3232 M5 20 316 (Master-Plate Stud) (32x32mm square base 

plate) (M5 thread) (20mm stud length) (316 stainless steel)

1 2

3 4

5 6

Prepare the panel surface by 
cleaning thoroughly with IPA.

Ensuring the adhesive is fully 
mixed, dispense sufficient 
adhesive for the application.

Locate the Master-Plate 
fastener over the adhesive.

Firmly press the Master-Plate 
fastener into the adhesive 
until adhesive flows through 
the holes in the base plate.

Following the adhesive 
manufacturers instructions, 
allow sufficient curing time.

Once the adhesive is fully 
cured, the Master-Plate 
fastener is ready for use.

Adhesive type Composites Plastic Wood Metal Natural

Stone 

Conglomerates Glass

PLEXUS MA300

LOCTITE 9466

LOCTITE 3425

Commonly used bonding adhesives and materials compatibility

Recommended Reasonable Not suitable Please refer to adhesive manufacturer specifications for guidance.

www.npfasteners.com/composites

DEFORM-NUT®MASTER-PLATE® STUDS

www.npfasteners.com/composites

TYPE PR

1.2 1.6

d1
d2

L

Type Q Type T

Q3232
(32x32)

T1900
(Ø19)

T2000
(Ø20)

T2300
(Ø23)

Type R

R3815
(38x15)

ØHoles

T3800
(Ø38)

L1

D

L

D3

L3

D1

D5

S

S2S3 

3
Tel: +44 (0)1302 836010
Fax: +44 (0)1302 836012
www.npfasteners.com

sales@npfasteners.comUK/01/1315137298

NP6

1 2

3 4

5 6

Prepare the panel surface by 
cleaning thoroughly with IPA.

Ensuring the adhesive is fully 
mixed, dispense sufficient 
adhesive for the application.

Locate the Master-Plate 
fastener over the adhesive.

Firmly press the Master-Plate 
fastener into the adhesive 
until adhesive flows through 
the holes in the base plate.

Following the adhesive 
manufacturers instructions, 
allow sufficient curing time.

Once the adhesive is fully 
cured, the Master-Plate 
fastener is ready for use.

30252220161514121065

Part Code
Type / Base / Thread /

Length / Material

d1
Thread

d2 d3

BRC Q3232 M4 -- --

Ø
Holes

OD

BRC T1900 M4 -- --

BRC T2000 M4 -- --

BRC T2300 M4 -- --

BRC T3800 M4 -- --

BRC R3815 M4 -- --

M4 12.1 8.5

L Standoff Length

BRC Q3232 M5 -- --

BRC T1900 M5 -- --

BRC T2000 M5 -- --

BRC T2300 M5 -- --

BRC T3800 M5 -- --

BRC R3815 M5 -- --

M5 13.1 9.7

BRC Q3232 M6 -- --

BRC T1900 M6 -- --

BRC T2000 M6 -- --

BRC T2300 M6 -- --

BRC T3800 M6 -- --

BRC R3815 M6 -- --

M6 13.1 9.7

BRC Q3232 M8 -- --

BRC T1900 M8 -- --

BRC T2000 M8 -- --

BRC T2300 M8 -- --

BRC T3800 M8 -- --

BRC R3815 M8 -- --

M8 15.1 11.2

Standard Special order

5

5

4

5

5

5

5

5

4

5

5

5

5

5

4

5

5

5

5

5

4

5

5

5

BRC Q3232 M10 -- --

BRC T1900 M10 -- --

BRC T2000 M10 -- --

BRC T2300 M10 -- --

BRC T3800 M10 -- --

BRC R3815 M10 -- --

M10 16.1 12.8

5

5

4

5

5

5

L1

M
in

. 3
 T

h
re

a
d

s
M

in
. 3

 T
h

re
a

d
s

M
in

. 3
 T

h
re

a
d

s
M

in
. 3

 T
h

re
a

d
s

M
in

. 3
 T

h
re

a
d

s

MASTER-PLATE® BLIND STANDOFFSDEFORM-NUT®

www.npfasteners.com/composites

Material: Steel Electro Zinc (ZI) or 316 Stainless Steel (316)

Part number is made up as follows:

(Type code) (Base code) (Thread code) (L Length) (Material code)

For example:

BRC T2000 M5 10 ZI (Master-Plate Blind Standoff) (20mm Ø round 

base plate) (M5 thread) (10mm standoff length) (zinc plated steel)

Adhesive type Composites Plastic Wood Metal Natural

Stone 

Conglomerates Glass

PLEXUS MA300

LOCTITE 9466

LOCTITE 3425

Commonly used bonding adhesives and materials compatibility

Recommended Reasonable Not suitable Please refer to adhesive manufacturer specifications for guidance.

Deform-Nut® is a patented threaded insert system that combines 
mechanical anchoring and structural adhesive to provide strong load-
bearing threads in sandwich panel materials (with a honeycomb or 
composite internal structure).

Expensive or complex solutions such as resin potting or bonding of 
bushes and tie rods can be avoided. 

Furthermore, Deform-Nut allows you to use the same type of product 
in a wide range of sandwich panel materials and thicknesses, is easy 
and quick to install and doesn't require any further processes or 
finishing after installation.

Deform-Nut can be used in any composite material panel, resins, 
carbon fibre, light alloy, and more.

The 3 stage system comprises:

• A special rivet nut style fastener which is riveted in to the top

skin of the panel using conventional rivet nut hand or air 

tooling

• Structural adhesive is then injected into base of the rivet nut

• A separate adjusting nut is then screwed into the rivet nut

until it bottoms out on the bottom skin, displacing the 

adhesive into the surrounding structure to increase load 

strength

THE INSERT  SYSTEM
FOR SANDWICH PANELS

1. Drill the correct hole from one side of the panel (blind hole)

2. Insert the rivet nut in the hole

3. Using rivet nut setting tool, pull up the rivet nut to to attach it to

the top skin of the sandwich panel

4. Inject structural adhesive

5. Insert and screw down the threaded adjusting insert until it

reaches the bottom skin of the sandwich panel

6. Fastener is ready for use (time to full strength is dependant on

structural adhesive properties)

TYPE BRC

Stone sandwich panel
5mm Marble
15mm Aluminium honeycomb

Drilling a blind hole from the
Aluminium honeycomb side

Blind hole done
Blow out any debris

Normal rivet nut tooling is 
used for stage 1 installation

Screw the rivet nut onto the 
tool mandrel Place rivet nut into hole

Cycle the tool to set the rivet 
nut in place and remove tool

Inject structural adhesive 
two-part LORD 409/19
methacrylate for example

Wipe off any overspill

Using a screwdriver screw 
down the adjusting insert

Adjusting insert in place
Fastener is ready for use

After adhesive has reached full 
strength we test the pull-out

Tensile test rig set up for M6 
Deform-Nut

Failure of the honeycomb 
occurred at 210Kg Testing side load performance

At a single point shear loading 
force of 584.5Kg…  …the M6 Cap Screw failed  

L

L1

1.2 1.6

d1
d3d2

T3800
(Ø38)

Q3232
(32x32)

T1900
(Ø19)

T2000
(Ø20)

T2300
(Ø23)

Type Q Type T

R3815
(38x15)

ØHoles

Type R

Chemical Concepts, 410 Pike Road  
Huntingdon Valley, PA 19006

1.800.220.1966
www.chemical-concepts.com

DEFORM NUT®



adjusting insert set-up.

Rivet Nut: 303 Stainless Steel
Adjusting Insert: 303 Stainless Steel

Standard Special order

L3

D1

D5

S

S2 3S 

NP

Prepare the panel surface by 
cleaning thoroughly with IPA.

Ensuring the adhesive is fully 
mixed, dispense sufficient 
adhesive for the application.

Locate the Master-Plate 
fastener over the adhesive.

Firmly press the Master-Plate 
fastener into the adhesive 
until adhesive flows through 
the holes in the base plate.

Following the adhesive 
manufacturers instructions, 
allow sufficient curing time.

Once the adhesive is fully 
cured, the Master-Plate 
fastener is ready for use.

BRC Q3232 M4 -- --
BRC T1900 M4 -- --
BRC T2000 M4 -- --
BRC T2300 M4 -- --
BRC T3800 M4 -- --
BRC R3815 M4 -- --

M4 12.1 8.5

BRC Q3232 M5 -- --
BRC T1900 M5 -- --
BRC T2000 M5 -- --
BRC T2300 M5 -- --
BRC T3800 M5 -- --
BRC R3815 M5 -- --

M5 13.1 9.7

BRC Q3232 M6 -- --
BRC T1900 M6 -- --
BRC T2000 M6 -- --
BRC T2300 M6 -- --
BRC T3800 M6 -- --
BRC R3815 M6 -- --

M6 13.1 9.7

BRC Q3232 M8 -- --
BRC T1900 M8 -- --
BRC T2000 M8 -- --
BRC T2300 M8 -- --
BRC T3800 M8 -- --
BRC R3815 M8 -- --

M8 15.1 11.2

Standard Special order

5
5
4
5
5
5
5
5
4
5
5
5
5
5
4
5
5
5
5
5
4
5
5
5

BRC Q3232 M10 -- --
BRC T1900 M10 -- --
BRC T2000 M10 -- --
BRC T2300 M10 -- --
BRC T3800 M10 -- --
BRC R3815 M10 -- --

M10 16.1 12.8

5
5
4
5
5
5

M
in

. 3
 T

hr
ea

ds
M

in
. 3

 T
hr

ea
ds

M
in

. 3
 T

hr
ea

ds
M

in
. 3

 T
hr

ea
ds

M
in

. 3
 T

hr
ea

ds

® 

www.npfasteners.com/composites

Material: Steel Electro Zinc (ZI) or 316 Stainless Steel (316)

Part number is made up as follows:
(Type code) (Base code) (Thread code) (L Length) (Material code)

For example:
 (Master-Plate Blind Standoff) (20mm Ø round 

base plate) (M5 thread) (10mm standoff length) (zinc plated steel)

Adhesive type Composites Plastic Wood Metal Natural
Stone 

Conglomerates Glass

PLEXUS MA300
LOCTITE 9466
LOCTITE 3425

Commonly used bonding adhesives and materials compatibility

Recommended Reasonable Not suitable Please refer to adhesive manufacturer specifications for guidance.

L
L1

1.2 1.6

d1
2d 3d

T3800
(Ø38)

Q3232
(32x32)

T1900
(Ø19)

T2000
(Ø20)

T2300
(Ø23)

Type Q Type T

R3815
(38x15)

ØHoles

Type R
 d3 

 l1
 

 d 

 l 

6H
S2              

min.    max L3 L D D3 L1
D5 

+0.15
 -0.00

TC/DM10XZI-M6/10X

M6 0.5 - 2.0

9.5 13.0 10

10.5 13 18 1 13

TC/DM10XZI-M6/12.5X 12 15.5 12.5
TC/DM10XZI-M6/15X 14.5 18.0 15

TC/DM10XZI-M6/17.5X 17.0 20.5 17.5
TC/DM10XZI-M6/20X 19.5 23.0 20

TC/DM10XZI-M6/22.5X 22.0 25.5 22.5
TC/AM10XZI-M6/20X M6 0.5 - 3.5 20 28 20 21 1.5 13TC/AM10XZI-M6/22.5X 22 30 22.5
TC/BM10XZI-M6/20X M6 3.0 - 6.0 22,5 34 20 23.5 13 16 1.5 13TC/BM10XZI-M6/22.5X 25 36 22.5
TC/DM12XZI-M8/15X M8 0.5 - 2.0 17.5 20 15 18.5 15 18 1.5 15TC/DM12XZI-M8/20X 20 2025
TC/AM12XZI-M8/25X M8 0.5 - 3.5 25 35 25 25 15 18 2 15
TC/BM12XZI-M8/25X M8 3.0 - 6.5 28 40 25 28 15 18 2 15

Chemical Concepts, 410 Pike Road  
Huntingdon Valley, PA 19006

1.800.220.1966
www.chemical-concepts.com

DEFORM NUT®

www.chemical-concepts.com


